HBR(L) &% — KREEA TEL ( MEEHA )

{EBN A R LS TR IT SRR CHELIC
C ALR#EIEE
= i
= | L
i
|
I
©
D ESEEES
BEH £ 12 (mm) 920 925 @32 240 @50 @63 @80
o = mm @12 @14 @16 @16 @20 @20 @25
1EENZC ‘e
{ERmeE EIREZBIETER
=119 kgflcm? (kPa) 10.3(1030)
FHENEE kgflcm? (kPa) 1 ~7(100~ 700)
mEE1Ti2 mm 9 11 13 15
TEITRE mm 13 15 17 20
FIREME HE®
hEEAE 90%*2"
ird Lyl i (HAML)-L ; A8 (BELEAEA)-R
BERAIFN (N) (Bkgflcm?) 120 200 360 630 980 1680 2666
CEEXR
iR 920 925 932 240 250 263 @80
EE kg 0.3 0.5 0.7 0.9 15 2.1 3.1
C FIETEMEA R

(HB R ) (25

20 - g20mm

25 - @25mm

32 - @32mm

40 - J40mm

L: ®ramEskt | o0 - 250mm
(FAHEAE) 63 - @63mm

80 - I80mm

R: RTRAEEENX
(FAERA)

| PR TESAE (CS

TR TR i
(E3{TRETE4E) E=R1ENAB(CS
@20 - 13mm BERAIRE(CS
@25 - 13mm 5B SRR (CS
@32 - 15mm
40 15mm
g50 17mm
63 17mm
g80 - 20mm

6-13.21

-9D)
-9B)
-9H)
-9DPNP)

SCR(L)
Heeg
B

HER
W
FFFEL

HGR(L)
]
@I
HSR(L)
T

TR
(RRERE)

HBR(L)
bl

¥/ T RRE
(LR

HER(L)
R

A TR
(HREFERER)

HFK
1E1R
FEEEL

HCK
1aiRst
TR

HLK
EEEari

HUR(L)
S
A TR

HUK
B
B BT

HN[]
£ fE
HEIIFE

HS[]
s
A

HCF
L
L

HCS
L
LT

HCQ
SHE

S ER T

(M REFERER)



HBR(L) %3 — SIS TR ( MEEHE )
SMEREIRR CHELIC.

QO HBR(L) 920 ~ 380
HBR(L)—J x ST

gy

;
K 4L
J
G1
F N )
| |
|
i F
1 1 °
4 AT
E1 | E1 | | =
= | ”y
&, o
| b
. ‘
z m <
oM o
[ | (@]
z ]
T [
M
2l
R
Q
| ‘\
i | =
|| sgr10 [ 77?% e
I I
s *
T & ST A A1 A2 B c D1 E1 F G1
220 22 67 89 (105.9) 65 23 015.9 M6x1.0 6 50
@25 22 67 89 (105.9) 65 23 015.9 M6x1.0 6 50
232 26 82 108 (128) 78 28 019 M8x1.25 8 70
240 26 82 108 (128) 78 28 019 M8x1.25 8 75
250 30 94 124 (150.4) 90 31 []25.4 M10x1.5 10 85
263 30 94 124 (150.4) 90 31 [125.4 M10x1.5 10 95
@80 35 110 145 (176.4) 105 35 []30.4 M12x1.75 12,5 127.5
5T 1R | J K L M N Q R s T u N1 N2 | N3
@20 @31 | 33 26 | @33 |M5x0.8P | 35 | @68 | @11 | @12 5 85 | 75 13 | 415
@25 @35 | 38 30 | @46 | M5x0.8P | 35 | @6.8 | @11 | @14 5 8.5 8 | 1655 | 395
232 @46 | 50 40 | @52 |PT1/8 50 | @9 214 | @16 7 95 | 115 | 19 45
@40 @55 | 60 48 | @68 |PT 18 55 | @9 214 | @16 7 95 | 14 19 45
@50 @65 | 70 57 | @68 | PT1/8 60 | @11 | @18 | @20 9 125 | 17 21 54
263 @78 | 83 67 | @9 | PT1/8 70 | o11 | @18 | @20 9 125 | 20 21 54
@80 @96 | 105 | 84 | @11 | PT 1/4 90 | @13 | @20 | @25 | 1 145 | 255 | 235 | 66.5

6-13.22





